ERE-PURSHH(FLRE)

sgy oy SHAEE SHISEE SH2EE
9B | 3A || 9B | 3A || 9A | 3A
HERE 1 (EF) 0 0 0 1 1 3
MR Pt () of of of of 4
g LR #+ (%) of o o 1 of 2
z  |EmEER F+ (EF) 0 1 0 0 0 2
kX 2R Z R 21 (EF) 0 0 0 3 1 3
INEE 0 1 0 7 6 11
EREIFH 2+ (I 0 2 0 1 1 1
AHRME IR 2+ (T%) 0 0 0 0 0 0
BEHH TR 4 (I%) of of o of o o
e ¥4 (I%) 1 of o i of 1
{LZ2IFEH SRLEFEI—X 21 (IH) 0 0 0 0 0 1
B FIER 2+ (T%) 0 1 0 0 0 0
WmE 2R 2+ (T%) 0 0 0 1 1 0
BEHARES R T L2F 2+ (T%) 1 0 1 0 0 4
; T E R B+ (T%) of of o 1 0 1
o |HIEVRT LI F+(I%) 0 0 0 2 0 0
BESATLIFEH 1+ (I%F) 0 1 0 0 0 2
BERETFIZEH 2+ (T%) 0 0 0 0 3 3
FERITFR 2+ (T%) 0 1 1 2 1 1
TR-BRETIZH 2+ (T%) 0 0 0 0 0 1
BErH 2+ (T%) 0 0 0 1 0 0
#HETEHE 2+ (IT%) 0 1 1 2 0 1
EfRMAFEIZRE ¥+ (I%F) 0 0 3 1 0 1
INEE 2 6 6 12 6 17
EmEER A FEHFI—X 2+ (B) 0 0 0 0 1 0
4 |ESRER EHREI—X ¥1 (%) of o 1 of o i
g EHHER EHHEHRI—R st (1) of of o of o o0
T |EHTEH EHEHRI—X ¥4 (I%) of of o o of i
% |ESIEH EMIFI—X 4 (I%) of of o of o o
B ERISH £HSFI—R 1 (T%) of o[ o[ o[ o] o
INET 0 0 1 0 1 2

2 7 3
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[ bTRY =
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= oy SHAEE SHISEE SH2EE

98 3A 9H 38 9H 3H

HFER ¥t (EF) 4 29 1 29 2 28

= MEZR ¥t (EF) 2 52 2 59 3 61
F |HeZER ¥+ (EF) 0 28 1 20 0 28
= KR ERFR ¥t (EF) 2 22 3 34 0 20
NGt 8| 131 7| 142 5 137

T ED 2+ (T%) 10| 123 5| 147 10 145
AT LEIEFR Z+(I%) 19 37 14 38 15 40

I [BREFR F1(I%) 1 7 8 77 4| 63
[f?—'e REEE R 2+ (IT%) 6 49 4 51 5 46
BEIZXR ¥+ (I%) 0 67 0 55 2 66
INET 42 347 31| 368 36| 360

P P %i(ﬁ%) 0 2 0 0 0 0
g 2+ (IT%) 10 84 11 85 5 84
= 2+ (EF) 0 1 0 1 0 0
% ERIEER FL(IH) 10/ 89 5/ 99| 10| 96
& INEE 20| 176 16| 185 15| 180
g |HEE-FHERESR 2+ (BH) 2 37 1 39 1 34
Efg EHRIZ R FE (I 1 69 1 69 2 69
I INET 3| 106 2| 108 3| 103
$% EHETER ii(iﬁi) 5 67 4 67 2 57
= 12 (%) 4 72 3 74 2 80
I INET 9| 139 7| 141 4| 137
. BEZR F+ (I 0 56 1 53 2 54
%fﬁ TR-BEIS®ZR F+(IT%) o| 37 4| 36 ol 39
EE MEEIXR 2+ (I%) 7 42 6 37 3 50
= INEE 7| 135 1| 126 5| 143
% 89| 1034 74| 1070 68 1060
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